

















Answer (______,____)

1st







8



	0 @1stclassmaths 10
9	The graph of $y = 3x^2 + 2x - 5$ is reflected in the x-axis. The reflected graph has equation $y = f(x)$ Work out $f(x)$. Give your answer in the form $ax^2 + bx + c$ where a, b and c are integers. [2 marks] $-(3x^2 + 2x - 5)$ $= -3x^2 - 2x + 5$
10	Answer $-3x^2 - 2x + 5$ The graph of $y = x^2 + 5$ is translated 3 units to the left. The translated graph has equation $y = f(x)$
	Work out f(x). Give your answer in the form $x^2 + ax + b$ where a and b are integers. [3 marks] $\frac{(x + 3)^2 + 5}{-x^2 + 6x + 9 + 5}$
	$= x^{2} + 6x + 14$ Answer $x^{2} + 6x + 14$
1st	

► 🔰 🗗 👩 @1stclassmaths 11 11 The graph of $y = 2x^2 - 5x + 3$ is reflected in the y-axis. The reflected graph has equation y = f(x)Work out f(x). Give your answer in the form $ax^2 + bx + c$ where *a*, *b* and *c* are integers. [2 marks] $2(-x)^2 - S(-x) + 3$ $= 2x^2 + 5x + 3$ $2x^2 + 5x + 3$ Answer 12 The graph of $y = x^3 - 5$ is translated 2 units to the right. The translated graph has equation y = f(x)f(x-2)Work out f(x). Give your answer in the form $x^3 + ax^2 + bx + c$ where *a*, *b* and *c* are integers. [4 marks] $(x-2)^{3}-5$ $= (x^{2} - 4x + 4)(x - 2) - 5$ $= x^{3} - 4x^{2} + 4x^{2} - 2x^{2} + 8x - 8 - 5$ $= x^{3} - 6x^{2} + 12x - 13$ $3x^{3}-6x^{2}+12x-13$ Answer 11 1st Turn over ►





1	14	The graph of $y = 10 - 2x^2$ is translated 3 units to the right and 1 unit up. The translated graph has equation $y = f(x)$	
		Work out $f(x)$. f(x-3) + 1	
		Give your answer in the form $x^2 + ax + b$ where <i>a</i> and <i>b</i> are integers. [4 marks] $(0 - 2(x-3)^2 + 1)$	
		$= 10 - 2(x^2 - 6x + 9) + 1$	
		$= (0 - 2x^{2} + 12x - 18 + 1)$	
		$= -2x^{2} + 12x - 7$	
		Answer Answer	
			3
	St		
www.	1stclas	smaths.com © 1stclassmaths	